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PART-I/¥TT - 1

Question no. 1 : Match the following Lists.

Lest | List 11

a) Allauddin Khilji 1) Building Canals

b) Qutubuddin Mubarak |2) Market system
Khilji

¢) Mohammad Tughlak [3) Adoption of the

caliph’s title

d) Feroz Tughlak 4) Use of token currency

HeT 3. 1 : TS o,

ﬂiﬂl war 11
a) 3eTSE M Raefoft 1) Brerd Fffet
b) FIgEH JIRD Rgerolt  |2) IR Uit
c) SIS eI 3) AT Tge TDROT
d) iR Jerets 4) I FaTT TR
Da-2, b-3, c-4, d-1
2)a-1, b-2 c-3, d-4
3)a-4, b-3, c-2, d-1
Ha-2, b-4, c-3, d-1

Question no. 2 : Which of the following Countries are the
parts of Indian Sub-Continent but are not SAARC
countries?

1) Afghanistan, Myanmar

2) Nepal, Bhutan

3) Shrilanka and Maldives

4) Bangladesh and Afghanistan
U . 2 : Tleflad! DIV IO TR SUGSIT 3Med 7
SAARC FHERIHEY A8 ?

1) IHMORA, RIFAR

2) AUTS, Y=

3) sfieiar, IS

4) FRTEIRST, AHMORA™
Question no. 3 : Consider the following.
1) HDI constructed by UNDP was published for the first

time in 1990.
2) Morris D. Morris constructed a physical quality of life

index.
Which of the above statements is / are correct?
1) Only 1 2) Only 2

3)Both 1and 2 4) Neither 1 nor 2
9T . 3 : Wil a6 fIR P Iy forgr.

1) 1990 5= UNDP &gd ufeedial HDI Tahrfard awuard
37T,
2) AR . 7R I+t PQLI TR el

IR POl fIer™ RIER 3R ?
1) B 1 2) wh 2
3)192 4) A AN

Question no. 4 : Which of the following statements is/are
false?
A] All the members of plantae and monera are Autotrophic.
B] Members of Protista are Unicellular but heterotropic.
C] Members of Fungi are parasitic, Saphrophytic but never
Symbiotic.
1) only B
3)Band C

2)Aand C
4)A,Band C

99T . 4 : Tlellerdd! B e / g™ géh emg/d?
3f) WIFIC @ HIMRT AT TeTier Jd Aofla T a1t SR,
) MICRT T1ed Aoig 8 ThuefiT g oRuTst SRy,
D) BT U Aoilg UNNIICIh, ARRIBRICID 3RAATd guT
ISEIR SIS R
1) Bh 2) 31 IMfoT %
3) g anfor & 4) 3,9, P
Question no. 5 : The term ‘Cabinet’ is mentioned in which
of the following articles of Indian Constitution ?

1) Art 74 2) Art. 75
3) Art 352  4) Not mentioned in the constitution

9o . 5 : ‘Bfoc’ & He FRGHRAT BT Herld T8
FRUIT 3MTeAT NP

1) P V8 2) B 9y

3) B 34 4) VAU TS HRUATT ATeiell ATE.
Question no. 6 : Gujarat Kshatriya Sabha is an example of
which one of the following ?

1) Caste Panchayat 2) Caste association

3) Caste federation 4) Caste system
99T . 6 : TORNT &T AT & TIATATDT BT ISTERT A8 ?
SIGREIEG] 2) 91 |eed
3) ST WY 4) ST gawRl
Question no. 7 : Which of the following statements about
the rabies are correct ?
A] It affects the nervous system.
B] It is caused due to virus.
C] It is caused due to bacteria.
1)AandC 2)BandC 3)A,BandC 4)AandB
e . 7 : YSEE Wiehledd! HIvi g™ aRIeR med?

31) ar IaRiReiaR gRuRT FRar.

q) ar fauTuEe s,

%) I STaTUges Bral.
1) 31 IfOT & 2) g IIfoT &
3) 31, g 3MfoT & 4) I amfoT g

Question no. 8 : Consider the following statements —
What was the impact of British imperialistic policies on
Indian agriculture ?
1) Creation of a new market economy.
2) Polarisation between land owners and tillers
3) Increase in the number of landless labourers
4) Unemployment among the village artisans.
Which of these are correct?
1) (1), (2) and (3) 2) (2), (3) and (4)
3) (1) and (4) 4) (1), (2), 3) and (4)
U9 . 8 : Wielldl AT Blcos IYdes I,
fafearear TROTmeE! Uedid TR 2l SavdeR PIvKd giRumT
et ?
1) T SR sreferawe= fffdt
2) SHMER g daant aie gt
3) FHEH SR TR a1e 80
4) Trfior HRIARTE SRR
I PIUr e IR 3rRd ?
1) (1) (2) 3mfdr (3)  2) (2), (3) 3nfor (4)
3) (1) amfor (4) 4) (1), (2), (3) anfer (4)
Question no. 9 : Which of the following organisation has

brought the new index named ‘Social Protection Index’ ?
1) IBRD  2) UNO 3) ADB 4) IMF
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99T . 9 : TTcieda PIUIT Fee- ARG GReT SeTd
& AP JMUTeT ?

1) . 3RS 2) g

3) T. S & 4) 371, TH. U,

Question no. 10 : The Second Administrative Reforms
Commission headed by Shri Veerappa Moily submitted
reporton ......

A) Ethics in Governance
B) Good Governance
C) Capacity Building for Conflict Resolution
D) Citizens Charter
1)A,C,D 2)A B, C
3)B,C,D 4) All the above
¥eT . 10 : 3 dRoqr WiEel IieAT redeETell A
TRIRID T RO SR ... TISgieRiet s/8aret |ex del.

31) GIRHTN AR Jo
q) FivTel ST
&) TN ASIUHRITS! Famed aTe v,
3) ARG A
1) 31, ® T S 2) 31, gamfor &
3)q, BT s 4) FOAH wd

Question no. 11 : Which of the following statements are
correct ?

1) As we go from earth surface to upwards, the
temperature falls by 6.4 °C per km.

2) Temperature increases by 1 °C as we go deep down
from the surface to the interior for every 32 mts.

3) In tropopause, temperature steadily increases.

4) Temperature increases with the increasing depth of
ocean water.

"o . 11 : WTellefih! 3R e .
1) YSURLT TR 9 S qFa™] dTIHH TR fheiriieve]
6.4°C < &1 8.

2) YYSIIRIA SRS JITd RIS ST qHe™d o 1°C Heft
32mts 3RT aTe.

3) duRTedt HEY ATUHMTTE) SFARYY TS BIl.

4) ORI FHGAT UTURITHEY @a \_Yﬂ%f dHdH dUHI died.
11,2 22,3  3)3,4 41,4

Question no. 12 Identify which of the following
statement/s is/are true or false ?

A] Starfish is a marine fish with five arms.
B] Whale is the biggest fish of class pisces.
1) A -false, B - false 2) A - true, B - true
3) A -false, B-true 4) A -true, b - false
99 . 12 : TTllcdd! HU g™ g fham RieR 32
3T,

37) ARMTAT &1 T 918 SRIVIRT HARRT HRAT AL,

q) 2T BT FEIRTIcNNeT Hafe ST FRAT 37T
1) -gdH, T-gdh  2) 3 - RN, g - TG
3) A -IPH, T- WK 4) I - NKR, - P

Question no. 13 : In which of the following
recommendations the Ashok Mehta Committee differed
from Balwant Rai Mehta Committee regarding PRI ?

A) Two-Tier system of Panchayati Raj.

B) Official participation of political parties at all levels of
Panchayat elections.

C) Zilha Parishad (Z.P.) as the executive body.
D) Entrusting development functions to the Zilha Parishad.
1) A,Band D 2)Aand B
3)A,CandD 4)A,Band C
U9 . 13 : TR ol AT FeH el GTeiierde! A
UEdT |AfieT Pivr RIGRAET I JeaRE wedl |t e
fTTAR=AIET STeT 3R ?
37) JaTId Y FaRAd gavl 'R
) JaRIC IS Faeddiel FaSurhid Ad TR DR garar
3Mfeepe HAZHIT
&) Niegr aRug g BrieRT I,
3) el uRvehs fddRI! B AYfau
1) 31, gamfir s 2) sramfor g
3) 31, @AM S 4) 31, gAMTH

Question no. 14 : Which of the following scheme provides
Insurance for the landless agriculture workers?

1) Aam Admi Bima Yojana

2) Ashraya Bima Yojana
3) Khetihar Mazdoor Bima Yojana
4) Rashtriya Swasthya Bima Yojana

U B. 14 : Tlelldl UhT PV AT HHIE ATHARATST
[ERISSNER I
1) 3 ) fEm Ao 2) S famT Ao

3) WftreR woigR T Ao 4) g wareg famr A

Question no. 15 : Which of the following event helped
Gandhiji, who had returned from South Africa in 1915, to
emerge as the undisputed leader of the Indian National
Congress ?

1) The British Raj passed the Rowlatt Act on 18"
March 1919, to suppress the revolutionary
movements almost overnight.

2) Annie Besant became a Raj supporter after
Montague’s promise of a responsible government
in India.

3) B. G. Tilak departed for England in Sept. 1918 to
fight a libel suit against Valentine Chirol.

4) Montague’s announcement on 20 Aug, 1917 in the
House of Commons that the policy of the British
Government would be the gradual development
of self-governing institutions with a view to the
progressive realization of a responsible
government in India.



¥eT . 15 : ¥ 1915 HeY Sf0T aNfthdd TRa MR
TiefiofiaT IR TR PR rfdaTfed A FeuH ST JvATd
GTATATR BT T AERID IRAT?
1) fafeem= 18 9t 1919 &1 HIfTFRY TBISAST I
erer JAoae rfufrm
2) IEATHUV I Isic AT AT TAEER
UG AT FHAE ST
3) ft. SN, fewd Folers RRIe iwar deufder Fwwrdt
AR 1918 ALY FoisPbS G,
4) 20 IAFRET 1917 I FTHW 3’H DT T A
wfe RS WRIw Bie faemmrdt fafeer
T TATIETRY 31T 3 ATER .

Question no. 16 : Consider the following statements —

A] Azetobactor helps in nourishment of the plants.

B] Rhizobium is involved in the nitrogen fixation.

Which statements among the above is/are correct ?
1)Aonly 2)Bonly 3)AandBboth 4)None

T H. 16 : TNl g™ fa=Rd &,

37) FACITITR FIATIT UINOTRT Ha el
) YRR & AT RGN T qofaar.

TAAUDT PIORT AL D AE?
1) Wb 3T 2) B g
3) 3 31fd1 § 4) HIUTE! ATEL.

Question no. 17 : Which of the following is not a
Department under the Ministry of Finance?

1) Department of Revenue

2) Department of Commerce

3) Department of Disinvestment

4) Department of Expenditure

e ®. 17 : Qoflcddl P e (@) & erf
AT I A8 ?

1) 759 @A 2) aIfdrsT |@Td

3) Frfdao@ @ 4) @@ @

Question no. 18 : A Literacy Programme implemented by
the government of Andhra Pradesh was called as .....

1) Sarva Shiksha Abhiyan

2) Samata Gyan Vigyan Jatha

3) Akshar Dipam

4) Total Literacy Mission

Question no. 20 : Find out the correct statements from the

following.

1) Primary earthquake waves travel in up and down
direction.

2) Secondary earthquake waves travel only through hard
and liquid mass.

3) Surface waves originate on the surface and travel by low
velocity.

4) Secondary and surface earthquakes are more destructive.

U9 . 20 : Tlellcda! e Aam enn.

1) TTeIfie Yehd et I T I TarT e,

2) T YU B Uih BISUT ATV GeRey HTEHIC e
EaGInE

3) YgBresrl Ml qgSER 81 a T PHH! M TR BRI

4) GIH I YgS YebUcTen! AT 3fereh fAThRT SRITA.
11,3 2)2,3 3)3,4 4)1,4

Question no. 21 : In which major aspects, cold blooded

animals differ from warm blooded animals ?

A] Egg laying capacity.

B] Capacity of maintaining the body temperature.

C] Chambers of heart.

D] Temperature of the blood.
1)Aonly 2)Bonly 3)AandB 4)CandD

99 . 21 : ol THR UToRt I ThR HTvaivET HIvrT e

L CARERICNICGIR
31) SISt FTTug T &/
) eRRR TOE RRR Sauard e
) AT P
8) WIS O
1) Pad A  2)dasqg 3)JyaAforg 4)wafrs

Question no. 22 : Choose the correct sequence to indicate

the following statements as True (T) or False (F)

1)  After the battle of Buxar, the company appointed
Residents in Indian States.

II) The Resident represented the imperial power in the
local court.

I11) In 1765, the Mughal Emperor appointed the company
as the ‘Diwan’ of the provinces of Bengal.

IV) Residents exercised financial and administrative
powers.

°eT . 22 : QA eoledT gl @9 of 9B (F) 3re[@r

U . 18 : MY USY ARBRA JHAGIUN PeledT AR
BRIGHTET ... TR 3fIcdel S,

1) ud farem AR@™  2) |HaT I fasme S

3) &R SuH 4) Arcd foew) fem

Question no. 19 : UNO has constituted a new cell for
‘Gender Equality and Empowerment of Women’ with the

1) Development Women

2) UN Women

3) UN Women Empowerment

4) Division for Advancement of the Women

ueT . 19 : “fom T i Afiee Faefia_ur wa” gAm
PO T 1A G Dl TR ?

1) SEATHE AT

2) 3. . T

3) g. T. g9 Uiawic

4) fSfRo™ Bk T As@=TC 3T § |+

RIeR (T) T UG ™ Tl
1) TRART QSR DU YR IS gyl

T
1) I gfafred T s ufafifeg wenfie ~amrerana
&t

1) 1765 A& Goel FHICH HU-Iel STel Jiarar fSarr U

.

V) Isaufifefs anfefe g earadhir geaT TR P,
DF-T-F-T DT-F-F-T
T-T-F-T HT-T-T-T

Question no. 23 : Which of the following persons / leaders

have jointly enjoyed the office / post of the Deputy Prime

Minister ?

1) Morarji Desai and Yashwantrao Chavhan
2) Babu Jagjivan Ram and Devi lal.

3) Charan Singh and Babu Jagjivan Ram

4) Moraraji Desai and Charan Singh




U . 23 : WllMUd! PIURIT FHT/ T FYHU0T
UGS Jufder 3ME?

1) ARRSN AT T JAaRTT FGI0T

2) 91 SFISHA=RE 3T 34} aTet

3) =ROT T 37T q1q SATSTia=R™

4) AR ITE T TRUTRAT
Question no. 24 : The concept of vicious circle of poverty
has been developed by ......

1) M. S. Swaminathan 2) Dr. Manmohan Singh

3) Ragner Nurkse 4) Gunnar Myrdal
U9 . 24 : SRS GTAD & ADeTAT DIV [TBRAT et 1?

1) U, O}, W 2) ST, A9med R

3) ¥R T 4) TR figfar
Question no. 25 : Internet addressing of a computer
contains —

A] four numbers, separated by a period and each number is
less than 256.
B] User’s name
C] Secret code
1)A,Bonly 2)A,Conly 3)onlyA 4)onlyB
U9 3. 25 : U] Seoic JIgRITHL ... T qHES BT
3f) UHHBHIARET gUfUur OMed SRUIR 3RY IR IS & SATUh!
TR ATHST Y€, UeT TS IR,
) IRV (YR ) A
@) TH Hopdiop
1)PhA, T 2)HhA, P 3)HhdA 4)Hhd
Question no. 26 : Read the following principles of Indian
political system and choose correct alternative as per the
correct sequence mentioned in the preamble of the Indian
Constitution.
A) Democratic, B) Sovereign, C) Republic
D) Secular , E) Socialist
1)A B,C,D,E 2)B,E,D,A C
3)C,B,A E,D 4)B,D,E, A C
T 3. 26 : YR IASThIT IR Hefclier @iefiel ararar
R T IRdE ARYHRIT ARG 3Reel I &1
AT T IRT g e,
) AP, 9) AEEE, ) TR, $) erfrRus,
g) TR
1)3,8,F, 3,3 2)9,%,3,3,@
3)®, 9,30, %, 4)9,3, 8,30, %
Question no. 27 : Which of the following was started to
ensure the survival of Girl Child?
1) Kishori Shakti Yojana 2) Balika Samriddhi Yojana
3) Asha Scheme 4) Vikalp
UeT . 27 : ToRll SFIET IRN THT FRUINAGT Fretieriat

PO TISTHT G FROAT IATAT?
1) foremrY orchY aTorT  2) AfereRT WS AT
3) 31eN FioAT 4) fq@meq

Question no. 28 : Which of the following statements are

correct ?

1) The first official census was conducted in 1961

2) The census is only for counting women.

3) The 2011 census was the 15" official census.

4) The 2011 census was according to caste.
1)1%and2™only  2)2"and 3™ only
3) 1 and 4" only 4) 3" and 4™ only

U9 . 28 : Tlellerda! PHIureh e Ty Jmed ?
1) ufeel IR SFUMT 1961 ATelt STTet.
2) SFNUMT T80 Trch HfgeTdl] Aol 81,
3) 2011 =l SIRTOMT & 15 &t ffrgpat Mo 8.
4) 2011 9t SFRIUAT & JAFERT STelel! T0MHT 81,

1) ®eh T 3T S IRIER 3R,

2) B S T 9 R 3.

3) Wh T MTT IR SRR IMR.

4) Bh 1M T TR IR 3R,
Question no. 29 : ‘The period the Kushanas witnessed
important developments in religion, literature, art and
foreign trade and contacts.’
In the light of this statement, which one of the following
pairs does ‘not’ relate to the Kushana Period ?

1) Mahayana Buddhism — Gandhara Art

2) Nagasena — Milinda Panho

3) Charakasamhita — Nagarjuna

4) North-western region — Kashyapa Matanga

silk routes

U9 . 29 : “PUMN Pl & ¥H, WL, Pell T WRRIE
IR T T T T fprarn dArefier 3mg.”

o o

IT RIS TTeAlcTieh! DIV JATST HEAT PlergSren
REIECISICI

1) wErI gfEs™ - TR Bl
2) AFRA - fiferg ot
3) TREBAfEAT - AN

4) ITR-UfeeT Uid - H9IY ATGT M7 Riewd qrt
Question no. 30 : Which companies have been given the
status of Maharatna as on December 31, 2011 ?

a) Oil and Natural Gas Corporation (ONGC)
b) Indian Oil Corporation. (I0C)

¢) Coal India Ltd (CIL)

d) Oil India Ltd (OIL)

laandb 2)a,bandc 3)aandd 4)bandc
¥eq . 30 : 31 fSHR 2011 IN PUAT HFU=IHT TERA

ST SUAT ATAT 3T ?
37) ST 30T FaReT I HIART

) 3eT aTsa PraRee

%) Dlel ST feTfics

) s sfeam fafcs.
1) 3 amfor g 2) 31, g IMfor &
3) Iramfors 4) g 3T &

Question no. 31 : Which of the following statements about
greenhouse gases is most correct ?

1) Greenhouse gases have never been very stable
and have increased dramatically in the past 130
years.

2) Greenhouse gases have never been very stable
but have decreased dramatically in the past 130
years.

3) Greenhouse gases are fairly stable through most
of the human history but decreased dramatically
in past 130 years.

4) Greenhouse gases are fairly stable through most
of the human history but have increased
dramatically in past 130 years.



" %. 31 : ERaE IHed Trefldud Pk g a
R?
1) g 9 7T A RR wega nfdr Al 930
2) T IR IO FNE RR Fega fdr Al 930
INTURIA T ATeTHY e STl
3) & Iy el AEdt sfema fRR Mg g
AT 930 gufd ATCTTT U< TN 3R,
4) T IR yEor Wgul A e fRR e gur
AT 930 gufd ATSTHT 1S SN 3R

Question no. 32 : The basic principles of Citizens Charter
adopted by the Government of India with the objective of
ensuring responsive and accountable administration are
listed below. Identify the principles and select the correct
option.
A) Quality of services
C) Standards of service
1)A,B,C 2)B,C,D
3)A,B,C,D 4)A,C,D
Ueq @. 32 : YRA WDHRA FhReled] ANNDRIT Aiad ol

IeT O St SEERR ST IWRERT W A1 SereE”
JMETNT 37Ted o AT AR AT M. ARNA T NG
I gty T,

B) Choice for users
D) Value for money

31) ToTeRITYul HaT ) Sy Fas

&) SofcHd HaT g) Yo Jeu
1)a1, 9, @ 2)4,®, S
3)3, 9, B, 43, B,

Question no. 33 : Which of the following was one of the
landmark Reports related to status of Women on pre—
Independent India?

1) Towards Equality Report

2) Shadow Report

3) Women’s Role in Planned Economy

4) Women and Development Report
HeT 3. 33 : WISISIUD! DIV MEAT & FTIYd PIoI el

IRANA AT Soliedl AeHidlel Id HAed T 3fgdre]
3AE?

1) FETIAE! fEem srgarer

2) ofet 3rgaTc

3) e srefcaverditer Ragist yfier

4) fRear anfor e srgara

Question no. 34 : Which of the following properties of
graphine are true ?
A] It is allotrope of carbon.
B] It can conduct electricity.
C] Itis 2-D nano crystal.
1A B 2)A,BandC
3)only C 4) only A
U9 . 34 : Tlelcde! Jthiel DIV TUTER T 315 ?
31) O I IRY 3T,

) O Rgdarss 3.

%) o e Tl amR.
1) 3T g 2) 31, g 3mfor @
3) Bh B 4) % 3

Question no. 35 : Which Public sector Bank Launched

Insurance Scheme with LIC for women self help Groups ?
1) State Bank of India 2) Bank of Baroda
3) Punjab National Bank  4) Bank of Maharashtra

997 . 35 : Al THRIERIAT TCHIGT BRI ATSAMD St

Sftee faT R SRISR faMT AT g6 et ?

1) YT & ATh feAT 2) T ATH TRIST
3) US| AT §6  4) S IATH AERIY

Question no. 36 : Consider the following statements :

1) The formal proclamation of the Swadeshi movement was
made in 1905, in a conference convened by
Surendranath Banerjee at Barisal.

2) On the day of partition of Bengal, the famous Boycott
Resolution was passed by the leaders of the Swadeshi
Movement in Bengal.

3) Chadambaram Pillai took the Swadeshi Movement to
the Madras Presidency.

Which of the statement(s) given above is/are correct ?

1) only (1) 2) (1) and (3)
3) (2) and (3) 4) only (3)

U9 . 36 : Tlcilel [T PHIcsoigdds ST,

1)1905 TeY IR IS Faefiean 3fivmRe AERAT=IRITS!

2) Teft Awdwd A BROTAT hresviedr faeft smeme
TRIG 3T IESHR G el

3) FeHeRA e Tt TaRT SeRaaTa Tawef Ieae derae.

TS PO Ae™ /7 sRIeR 3Mea?
1) v (1) 2) (1) anfor (3)
3) (2) anfor (3) 4) w (3)

Question no. 37 : Which one of the following statements is
not true about American astronaut of Indian origin Sunita
Williams ?
1) She holds the record for the longest space flight
by a female.
2) She holds the record for most number of
spacewalks by a female.
3) She holds the record for the maximum
spacewalk time for an astronaut.
4) She is the first astronaut to run a marathon in
orbit.
99T . 37 : Wil DI g R Jemear smiRa

ITNTd N G fdear=d i« T =817

1) AT AEER Haid diee RIS S0 BRUMRT
31T e .

2) A AEER Aaid STRd d@T ¥{dih BN St
31T fehH TR,

3) Al MR Wafd JIRd d6 WNAld PHRUMRT /S
SERTBAR 3T e A,

4) T FIULM IARIBAR ITed bl ST ANAT Bedl
YHUT Fel ITR.

Question no. 38 : Select the county from the following
information.
1) Its east and west coastlines are long
2) Western part is Mountainous
3) Central region is plain
4) Western Part is well known for Horticulture
1) Russia 2) US.A 3)U.K. 4) Australia




U9 . 38 : TIelel Alfeciawd al 397 3iIeT.

1) 1 <Rt g 37Ifor ufees fFRug! i arre.
2) T QT UfeHs udd 3T,

3) T AT Fegadd | VR HEH TR,

4) T AT YFETH AT HosdTTaTe! UiRig 312,

1)RRT 2) gwe.  3)gF  4) PR
Question no. 39 : Match list I (Name of Nation) with list 11
(Name of the president) and choose correct alternatives

given below.
List | List 11
a) Venenzuela 1) Aentonees Samras
b) Mexico 2) Enrik Penna Nieoto
c) Egypt 3) Hugo Chavez
d) Greece 4) Mohmad Morcee
99 . 39 : ITF T I ALTE AT INT ST JoodT.
art | (]) ardt 11 ()
a) TgIguet 1) 3TCIFI3/ T
by Hfae! 2) iR o1 Fritel
c) i 3) g e
d) 7= 4) 9rEAg At
a-3, b-2, c-1, d-4
2)a-4, b-2, c-1, d-3
3a-2, b-4, c-3, d-1
4)a-2, b-4, c-1, d-3

Question no. 40 : Which of the following is / are part of

the successful inclusive growth strategy ?

1) equity 2) equality of opportunity 3) Financial inclusion.
L)only 1 2)only land 2
3)onlyland3 4)All1,2and 3

U9 5. 40 : TR T Joi FETATA T IeTh! Do

gehHrdl / acHial AMIe gl ?

1) a9 2) gefiel wEar 3) il dwmae
1) B 1 2) Wb 1 31T 2
3) weh 1 31T 3 4) wd 1, 2 3nfor 3

Question no. 41 : What does Teletext means ?

1) Process of sending text messages by using a
satellite phone.

2) Flashing of telephone conversation on TV
screen.

3) Flashing the text of message on a telex machine.

4) Flashing the text of news and information on the
TV screen.

U . 41 : TlICa¥ TEUNT HRI?
1) faRaa wifgw Surg wiFER defvar ufsar
2) fe. &)= ysEER BIFad HHTOT SRaqul,
3) fafea wrfe Sotest AfdFaR Sraq.
4) fafea s snfor wifge fe. <8 a1 yeemaR Sraau.

Question no. 42 : The parliament can form new states or
alter the areas, boundries or names of the existing states by
alaw passed by a ......
1) two third majority of the each houses of the
parliament.
2) simple Majority of the parliament
3) two third majority of the parliament and
rectification by half of the state assemblies.
4) Simple majority of the parliament and
rectification of more than half of th State
assemblies.

U9 3. 42 : TS FAH I 07 % Aqepd fobaT ST 9],
I, SIRRICATA SRAVTIT T 3feraT ATt A1 9G], A, &
fALRID ... UBRM A9 Pl ST,
1) WSl QS AURTETE S Jehgier agaa™
2) WU ATEdT IgIAH
3) WU I geirier ggHa™ 3T sreaf gew Isgin
sz wade.
4) WSS WeAT ggHam onfdr sredf wed IsgiTAn
frfiiszrear v,
Question no. 43 : With reference to the socio-religious
reform movements, which of the following statements is
correct ?
1) The Theosophical Society believed in universal
brotherhood and encouraged the Indians to
gain a spirit of culture.
2) The Young Bengal Movement preached
monotheism and opposed idol worship.
3) The Ahamadiya Movement created Public
opinion against child marriages.
4) The Tattavabodhini Sabha worked for the
emanicipation of women.
e . 43 : GHING dHd JURUIT FosdeRigHid
GTeflette! ST g™ I 3rmg ?
1) fysraiftherd WIS Afeae dyar T HReAFE
Aipferd gt ATefIvarar feary 3qumt gl
2) THUT & T ThARATSTT SYSLT HeAT AT
Teifgorel faRter dvar.
3) 3T TBaBIM FTAIATEIRRIEN AT IHRC.
4) TR T ERhISRar $1 bl
Question no. 44 : Match list I (Name of the High Courts)

with list Il (Seat of the High Courts) and choose correct
alternatives given below.

List | List 11
a) Chhattisgarh 1) Ernakulam
b) Kerala 2) Jabalpur
c) Rajasthan 3) Bilaspur
d) Madhaya Pradesh 4) Jodhpur

U B, 44 : ST TN 9 IR BT IAT IR ST
SJeT.

TST 3 DI
(So =TI A1) (S= =TT AT)
a) BaTS 1) Wigper
b) IR® 2) STEAYR
C) T 3) foemragR
d) 7eg v 4) SR
Na-2, b-4 c-1, d-3
2)a-2, b-1, c-4, d-3
3ya-2, b-3, c-1, d-4
4)a-2, b-4, c-3, d-

Question no. 45 : Which is highly dense city in the world?
1) Tokyo 2) Shanghai 3) Mumbai 4) New York
U9 . 45 : JIHAE! TdT ST Fdid SR 3fclel A&

P ?
1) aifsar 2) e 3) Hag

4) =guTh
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Question no. 46 : Chloroflurocarbons (CFC) responsible
for ozone depletion has which of the following properties ?
A] itis colourless
B] it is non—inflamable
C] it can occur in solid, gaseous or liquid form
D] in presence of UV light they breakdown oxygen
molecule
1)Aand B 2)Band D
3)Band C 4)A,BandC
UeT . 46 : FARITRIPET 3 ST 2R TE IROINT
SEEER AFel AWM. R Giefieddl PR JoreH kiR
TR ?
31) o TTEN 3R
) T Sa=efier Iaa.
%) d SI0U, TYHY J RATHUTT IucTed 81 AN,
g) aIftriar o= A O sifedloM YW faeed &%
SERIGH
1) JF 3T g
3) ganfor & 4) 3,9, ®
Question no. 47 Both Kaziranga of Assam and
Mudumalai of Tamil Nadu are known as reserves of .........
1) Rhino 2) Tiger  3) lion 4) Crocodiles
U9 . 47 : IAMHHICT ISR d dTfHew-rg Feilel JgHT &
SRS & L, o STRFIT & TUH 3Ne@ef! SIAT.
1) wf¥rt et 2) aw 3) R 4) ¥R
Question no. 48 Chemical fertilizers have many
disadvantages. Due to this farmers are encouraged to use
bio-fertilizers. Which one of the following living organism
is used as biofertilizer in paddy field ?
1) Mycorriza 2) Rhizobium
3) Azotobacter 4) Anabena azollae

Ueq . 48 : INIMG TAW MG IR IMMed. TR
AN AAHIFT Sa-T  IARVIEST WeArss e S,
GATATDT BIVCT ASlg & T Sa-Td 7 AR
STAI?

1) ARIPRIIST

3) sigicliey 4) 37T 3iEeAt
Question no. 49 : The National Human Development
Report (NHDR) gives the Human Poverty Index (HPI)
calculated by giving one third weight each to three
dimensions of deprivation .........
a) Basic Necessities b) Educational
c) Health d) Economic

1) a, band cis correct

2) b, cand d is correct

3) ¢, d and a is correct

4) All the above are correct
U . 49 : N AFG BN 3rgdTeAd IS Hd

SR F<eTies AT TTetieTih! BIVIRAT el Ueb JeriaieT
R T a8 ?
31) Ferd TR q) darform
F) AR Rvge 3) anfefe fawgs
1) 31, TN B R 2) T, B IMOT § WG
3) &, S AT AT RIER  4) A | IR

2)gamfors

2) vFEfRTT

Question no. 50 : Consider the following statements —

1) The Arya Samaj was founded in 1835.

2) Lala Lajpat Rai opposed the appeal of the Arya Samaj to
oppose the authority of the Vedas in support of its social
reform programmes.

3) Keshab Chandra Sen of the Brahmo Samaj campaigned
for womens’ education.

4) Vinoba Bhave founded the Sarvodaya Samaj to work for
the refugees.

Which of these statements are correct?

1) (1) and (2) 2) (2) and (3)
3) (2) and (4) 4) (3) and (4)

99 5. 50 : TTeild L™ FHiesoiYdd JgT-

1) 3TRf T 1835 ALY FRATU ST

2) AT TN AiedT IR A9 ST Ry
FROGNIST AT e aHefAref derar srftrRIeT
foRTer HRUATT 31T,

3) HeETs W I SRl FENTaTa H-Rigvme i
EISIESS

4) Taffrarey & axvaNRt e i dafer T\
T BT,

T PR g™ IR 3mea?
1) (1) =nfor (2) 2) (2) amfor (3)
3) (2) amfor (4) 4) (3) anfor (4)

PART — Il / 9mT - 2

Question no. 51 to 53 : Read the following passage
carefully and answer the questions that follow.

Pablo Picaso was probably the most influential painter
of the twentieth century. In the passage written by Picasso
himself, the artist explains his views on art.

“I can hardly understand the importance given to the
word research in connection with modern painting. In my
opinion to search means nothing in painting. To find, is the
thing. Nobady is interested in following a man who, with
his eyes fixed on the ground, spends his life looking for the
pocketbook that fortune should put in his path. The one
who finds something no matter what it might be, even if his
intention were not to search for it, at least arouses our
curiosity, if not our admiration.

Among the several sins that | have been accused of
committing, none is more false than the one that | have, as
the principal objective in my work, the spirit of research.
When | paint, my object is to show what | have found and
not what I am looking for. In art intentions are not
sufficient and, as we say in Spanish : love must be proved
by facts and not by reasons. What one does is what counts
and not what one had the intention of doing.

We all know that Art is not truth. Art is a lie that makes
us realize truth, at least the truth that is given us to
understand. The artist must know the manner whereby to
convince others of the truthfulness of his lies. If he only
shows in his work that he has searched, and researched, for
the way to put over lies, he would never accomplish
anything.

The idea of research has often made painting go astray,
and made the artist lose himself in mental lucubrations.
Perhaps this has been the principal fault of modern art. The
spirit of research had poisoned those who have not fully
understood all the positive and conclusive elements in
modern art and has made them attempt to paint the invisible
and, therefore, the unpaintable.
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They speak of naturalism in opposition to modern
painting. | would like to know if anyone has ever seen a
natural work of art. Nature and art, being two different
things, can not be the same thing. Through art we express
our conception of what nature is not.

51. The sentence “when I paint, my object is to show what |
have found and not what I am looking for.”

1) a digression from the main point of the passage.

2) a denial of an accusation.

3) an explanation of one of “several sins”

4) a false statement that the author intends to

disprove.
52. The statement ‘Art is not truth’ implies that ......

1) artists are liars and are basically untrust workers.

2) we should not take art too seriously.

3) art gives us more than truth; it gives us

understanding.

4) we must accept the idea that truth comes in many

forms.
53. According to Picasso the problem with modern art is it

1) obscure 2) vague
3) abstract 4) abstruse
¥eT . 51 d 53 : YIeT UNTHE dHlewoigdes drdm g ARITe

fetear geid arg IW @,

Uecll el forear grdarden Sifde meaeel foadR
BT, 1T 7 MY GO ATeAT RAGRIAT oikdT BIE! q&d A8
TR HAEE AR o AISHNE. Giell A °iefd SFHIbs Uhed
SEUMAT g ST@W“:I—\’ Teflarar wRaeImeR NTQUIT-T HIUTHATAT ‘:ITPT
SIUIRT IviiE] FIR BIUIR ATEL ST chl ¥ad: Pralas! 2!,
T T PR 3R fhar et O dftsa e fdar =, anft
SIRhT SMUSAT PgeaTral f[ANT o, AAERd! o 3 U]
PRUIT SR eATdel et 3MTed ATIdH! Faid WieT 3TRIT Fgural &7
&1 Y AT T ATGRAFT “HNEFTRT Ieft” FeATg T WE
SfeE TBUH NG IIal. SiegT Ht foF FIaT degr AT Seed
“HAT BT AISH A2 & SRIMAT 3T, “H H1T aMveraly g’
AR T8, Foimed ‘B Paw AT TR TiHer 7ed areft v
BT 3R Y U G IRUIIGT ARt S e JErn
3ITEd, T . ThT F3edT & BRI T & AE@™ AT <
BT BRf IR 7 31D FEam.

AT B AT eg & FAST AR, Dell Nef Iy 19 318 off
SATIUTAT AT T2 TS, oY /e O SYUITAT TRAfdet 9Tl
AT RTINS AT Yeqd AN Hrered fhar ugd
DATDRIAT I m EITI%@T SR DATDRE  3THeU]
FATPAHE TS T IREAUINST dhetedT Tl e
RIS Heles A TRAfel R AN T FauR AT
FMETT Foqms REdeAe g WRaefielel Mg 3
RASRET Te7 faTmed [IRe o, T80s AYfTe demee @
T UG IRAA. [ele g a1 At gt fwp deft s
anygfied femmar (died o) qdier =irean 9 faeawfry et
qufael desedT TS, FEUH 31T, JITINRY A-etedT e
g&1 RIfAd RugTar W et e,

MY e Frafarerear R e 3Ry AT =t delt
ST, 9fifes et dfeett ame areft it =T s @ §
SV SR Aol ge8T oMe. Rl @ werm a1 = fir Ot
3.

"9 . 51 : Siegl HI o FfIAT deaT A S HeAl BRI
Agsel 3R’ 2 SRI0 3RAdT, ‘Mt B eNedr Mg ¥ AW

3) BT AP ITIHATT FIEIHRUT TR,

4) T @ie g ame o ogs @i fig a6 3o,
9T . 52 : ‘Tl UM W Ace’ T faer avef .

1) BeATHR & WITRS IRATT T ool fyeamrg v

2) 3TYT Feter G T o 2.

3) el JATYUITAT AATIETE SR HEW™ BIE! I, Bedl

SMYUTRT “ST0T” (RF97eT) <.
4) 3MYUT gAY FRIGAT UIES H T ¥ 3MD HUHA
&,
U9 3. 53 : USRI 7 MY dHed! T & 37Tg it
........... 3.

1)U 2)dfey  3)md  4) gty
Question no. 54 to 56. Read the following passage
carefully and answer the questions that follow.

Tapestries are made of looms. Their distinctive weave is
basically simple : the coloured weft threads interface
regularly with the monochrome warps, as in darning or
plain cloth, but as they do so, they form a design by
reversing their direction when a change of colour is needed.
The wefts are beaten down to cover the warps completely.
The result is a design or picture that is the fabric itself, not
one laid upon a ground like embroidery, a print, or
brocading. The back and front of a tapestry show the same
design. The weaver always follows a preexisting model,
generally a drawing or painting known as the cartoon,
which in most cases he reproduces as exactly as he can.
Long training is needed to become a professional tapestry
weaver. It can take as many as a year to weave a yard o
finely woven tapestry.

Tapestry - woven fabrics have been made from China to
Peru and from early times to the present day, but large wall
hangings in this technique, mainly of wool, are typically
Northern European. Few examples predating the late
fourteen century have survived, but from about 1400,
tapestries were an essential part of aristocratic life. The
prince or great nobleman sent his plate and his tapestries
ahead of him to furnish his castles before his arrival as he
travelled through his domains; both had the same function,
to display his wealth and social position. It has frequently
been suggested that tapestries helped to heat stone-walled
rooms, but this is a modern idea; comfort was of minor
importance in the Middle Ages. Tapestries were portable
grandeur, instant splendour, taking the place, north of the
Alps, of painted frescoes further south. They were hung
without gaps between them covering entire walls and often
doors as well. They were usually commissioned or bought
as sets, or “chambers”, and constituted the most important
furnishings of any grand room, except for the display of the
plate, throughout the Middle Ages and the sixteenth
century. Later, woven fabrics ornamental wood carvings,
stucco decoration and painted leather gradually replaced
tapestry as expensive wall coverings, until at last wall paper
was introduced in the late eighteenth century and eventually
swept away almost everything else.
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In England, during the second half of the century,
William Morris attempted to reverse this trend and to bring
tapestry weaving back to its true principles, those he
considered to have governed it in the Middle Ages. He
imitated the medieval tapestries in both style and technique
using few warps to the inch, but he did not make sets; the
original function for which tapestry is so admirably suited -
grandly covering the walls of a room - could not be revived.
Morris’s example has been followed, though with less
imitation of medieval style, by many weavers of the present
century, whose coarsely woven cloths hang like single
pictures and can be admired as examples of contemporary
art.

54, The primary function for which tapestry is woven is ......

1) to showase the weavers skill.

2) to help heat stone—walled rooms.

3) to provide sumptuous surroundings for life of

pomp and grandeur.

4) to displary the nobleman’s wealth and social

position.
55. In contrast to nineteenth
contemporary tapestries ......

1) are displayed in sets of panels.

2) echo medieval themes.

3) have a less fine weave

4) faith fully copy oil paintings.
56. The primary purpose of the passage is to ......

1) explain the process of tapestry making.

2) analyze the reasons for the decline in popularity of

tapestries.

3) provide a historical perspective on tapestry

making.

4) contrast the ancient and modern schools of

tapestry.
U . 54 0 56 : eIl UNTLS Plcdeiydd dral d ARGTeiiel

e I .

JTYERR USs & AU AFeR JIR el SN,
Rsicagefe dior & go1d Al sRTd. Samed Tiia gral smed
o1 & JATHT Tard USRS gRIET Sreclel] I S
RFRHL fohaT ATeaT BIUSTaR 3R, URg 39N UhRa! 910 IR
BT SNIAHT I SIS Gnl At I S5 Tl YR
Fefl TIR DA, ABIE SADPUVIRTST A0 &1 37cie’y IRlh
U el ST, T gRure! €1 were fafre e foar e
B B O qo vl dUe RI; O YRR Hldeldt

century tapestries,

SIFT SFIER 9%  EIRR Tea & fher Jeiool dRugrTet
TISRid SFd. QREl MeaT I ThT BT B AT Huh
Tee RO g A MUl AMIRIG Ud SRARIO. TeT 3T
TBUICT SIT $1 JEIGR TS AR 8T STSIPM 3Rieted] QI
Y WM BE PR, WG & AYFD Pl BT, HLALTH
PN FEART &I HH! HE@rR=dl qMed] 1. JERR Use 8
AET EAGUITAN 499 BIdl; STUGBIE! ST Bl (UIRIRG;
RcTeaidl STRdpeld AeUd Tdd I Sfauihs A0RIRE o
AT YFAH STt S Bl AT A <diet 3R 99 9 o
ad 9 gd Tred ST FITERT SR QW SIdhe! oI,
IFEST IS & W UG Sg Bciel A1 fohdT e da e
YU I ;AT TEme e gEeede! s §
SIfCFTET 3. $aw qadh SLTAvmT N Arg; Jeagie a
BT QIdPId AT TR AIDE pell TS, FaRT DI
R FUS, AT FHgaR, Frfiasier fietar snfor Fraeiel
PITe AT FEFTSIT MEHT JEIGR TS ST ST Foard
el M TR AT e 9ac! PRl HEGRT FaeT
AT T IR IR T MY FI[AT ART T,

TSI T S SINIdfd AT I ST
AT Toel ISATATATET T BT MO JEIRR TSI T
i AeRpie @leid 399 figgd SoamT Uae el M
TERH@ e JEieR Jeendl deft T Hieeg Iidt T
HRUITET YT bell; U Al 9 UbRD T 999, eber] Tl
FEIGR USETAT 9 o, &1 Srerred] Rt SaeeRyv sTesTien &t
BT, WY AT AT G 81 el AR AREaT TN
ST SIAGUITT T bel; i Hld ! qegepret
el Taper e dTe], IADI 3FE FIvaRT favrerer SRR
FHUS 7 HaD TETET FRETHT 3 Afee 3T SaTa Higd Has
DI e SSTETT FeUT el SATSa.

U9 . 54 : IAISIGR PIS VTR T PRI ...

1) favrexTeaT Hierear yeefH Hvor.

2) TS} ffiear Wiell SIER Aol

3) WUPBETST g 3NfAeTE Sawa weefe =gt @ff®

ITATARYT TIR RO,
4) 3R / WRERI=AT WU g S9 AMIS WR™ ueefs
.

99T . 55 : DIV Ibldlel dofggiaR BIaSRAT geld

Fefiee™, ST a1 SRiepM . dAgelaR YSar drid g
THIE IS R WRdl qaft affddrd. faueR g g
IR AT O aIRA; o I TR i far
TMaciel fod & O @faF U sliddel S, STaat 3fe
TPRY RFMRE SRl a SRl Wi fJureR awal.
AEARID  delgelar  Yeeial faueR  SIuaRIdl el
AT SAMETHAT I, ARV & IS Al Teal
FIRIAUUY furugrIdt Ue aufar dreras raT.

U™ 3Relel SRR USTd BIUS & IR o U% gfd
T 3T TRAURT R AT TR el ST, U Al
eI HTRAT P Dleed B FATIRUYU IR JRIT e
e, AT BT Y HET SaTERU AR 3MMed;

TR ATIRUMY 1400 IR JEGR U< 8 SAPald iz
ST SIS I B, IGPHR fhal ARER & e

HHBIGA PIUS ...
1) weldiear Famed veffa da 9.
2) A= fawg wiRraaTa.
3) T IiE RurerT 3R,
4) gIg9 AR THA F.
W9 3. 56 : ITRITET T I ...
1) J9gERR H1u furoart afhar TuE e | IR,
2) IGEIRR BTSN TARAT ATB IS TRIETUT FHRY.
3) dAgERR PIUS FAfquaTeT VEIE FEBM TR
3qul.
4) IGYERR HUSTAT YR d nyfie UG wie
Irafior,
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Question no. 57 to 59. Read the following passage
carefully and answer the questions that follow.

NATO was formed in April 1949 because of a fear by
its original signatories — Belgium, Canada, Demmork,
France, Ireland, Italy, Luxembourg the Netherlands,
Norwas, Portugal the United Kingdom and the United
Kingdom and the United states — that the Soviet Union
posed a major threat to their security. Its central provision is
Article 5, which states: “The parties agree of them in
Europe or North America shall be considered an attack
against them all.”

NATO is a grand alliance. It is, however, when grand
alliance were formed in the past — such as those that put
down Napoleon, Kaiser Wilhelm and Adolph Hitler — they
were formed after an act of agression occured. The purpose
of NATO is twofold: deterrence and defence. The very act
of forming a peacetime alliance, it was believed, would
serve to deter agression by the Soviet Union. If deterrence
failed, however the alliance would be politicalty United and
militarily strong so as to protect its members from a soviet
victory.

Certain factors underlay the formation of NATO. These
involved supremacy of the United states as a nuclear
power, the fear of soviet policies and the economic
conditions of the Europeans. First, in April 1949, the
United states had a monopoly of nuclear weapons. The
United states could carry those weapons to the soviet Union
itself by relying on its air bases in Western Europe and
Africa. NATO members could belreve that the American
nuctear forces offered a credible deterrent to soviet
aggression.

Second, it seemed to NATO members that the soviet
Union in particular and communism in general posed a
threat to western security. The post - World war 1l period
was characterised by such apparent threats as a civil war in
Greece, Communist takeover in France and Italy, a soviet
inspired communist takeover of Czechoslovakia in 1948
and a blockade of allied surface routes to Berlin in 1948.

Third, Western Europe was devastated by world war 1I.
It depended upon the United states for its economic
support. The Marshall plan of 1947, in which the United
States committed nearly $15 billion of economic aid to its
Western European allies, was a reflection of that economic
bond.

In the more than 35 years since NATO came into
existence, there have been many changes in the conditions
underlying NATO and in the coharacter of the alliance
itself. No longer does the United State possess a monopoly
of nuclear weapons, as it did until the 1960. During the
Cuban missile crisis of 1962, the Soviet Union had about
seventy long - range missiles that took 10 hours to fuel.
This made Soviet missiles easily vulnerable to an American
attack before they could be launched. Even as late as the
Yom Kippur war of 1973, the United States had a
superiority of about 8 to 1 in nuclear warheads.

In addition, NATO’s membership grew. Greece and
Turkey joined the alliance in 1952, and West Germany
entered in 1955. West Germany’s entrance into NATO was
the immediate cause of the establishment in 1955 of the
equivalent Soviet alliance defense organization — the
Warsaw pact. In 1982, Spain became the sixteenth member
of NATO.

57. With reference to the NATO, the word ‘deterrence
inplies.’

1) the discouragement of attack by other nations,
especially the Soviet Union.

2) the size of the NATO alliance relative to that of
earlier alliances.

3) the strength of the NATO member nations with
regard to the rest of Europe.

4) the possible aggressive behavior of the Soviet
Union.

58. The formation of NATO accurred for all the following
rasons except

1) democratic uprising in France.

2) military strength of the United States.

3) European need for monetary support.

4) apprehension about the spread of communism.

59. Which of the following is true ?

1) The alliance would be economically beneficial to
the United States.

2) The Cuban missile crisis refers to the vunerable
soviet missile exposed to American attack.

3) Communism was viewed as apotential threat to
Western security post World War 1l by the
Soviet Union.

4) The NATO is a grand alliance formed after an
attack of aggession with the purpose of
deterrence and defence.

99T %. 57 4 59 : YA IRTHT PldeiIgdd I g ATt
faeieaT aeA JFT I @

Herdl FATET Ul A%%R A I D AR oI
dfewad, oel, S, WA, RS, Scal, gasea,
eReled, A1, I, $ere 3T smReT i Aifead g
T AT GREA AT IR it T BeaHD Fe.
T 4 LI TS delell AT Hegad! wedr eft ong. ad
AT 3T I FEAd SR DT JRT AT ST 3HRbei el
TCATDRT TehT foham e ST QeIiaR ST el SfTe] ok al
1 Fafawd MG SITARET A,

Je1 &t WIS WETAT IR, WY & At W JFes
FECIET ISl MRET 372, JFNEXed] ST A1 FHSHT T
FedT T AT T, eR fiegen ofi 3feiew faeer
AREITET WG HAl. WG T FESHT AT &S TeaHTR
TR ST BIT. TRIBR M7 GRET & e & mefie e
3R, T PIDIT T STeiet! &1 HHSHT ANfeatd GHa=ean
SIEHHONAT URTBR Fet 3T feamt Brar. wele! UfidR et
ST TR AT HECTT A A AADIAGSCAT Thd Iciie SMor
TSIRIGSCHT I I I SATges Wlfeaverar fawa o &
EISSICH

TR IUTIHEY FIEl Teh HEAR™ TN Aol e
S MU dTebe, Aifeauereat g it SMfor ZRI
drprdt e R 3 B, goeawien U 9y Tl
SEIRAT 3Mfides TERATges R BIAT. AT 9fee™ /T
30T STfthaEd STTeied FIE! §aTs JrSaTedl Aege R
f I AfRud IS U9 JUIT &Mar Bil.
SRS SNfUdes ATherges WAlfeaUeerl TRTeT HiTBR STeaTaT
eredT AeR QLT fear .

TR TEUN IT FET QU SRE dled g dh A
Aifeetd AT T FYFEFHR aIead GRAT eidl aad
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BT, AT AT FERgHa<al B 8 Mefia TRt I,
WA AT geeled FRgfeRed udelel AT, Wlfceudea
IRUM PRIFREA 4%8¢ HE ®delell Tl M 998 ¢ Hed
FfefTar arsfieter IR AT HHRAT GIFITET HIo B,

R e =eol afeed RT g1 SIWiie FeREHS
ISEART ST BT 3T 3ATfRfep SRS FHRbeR JHacig
Bl A%%Y TAT AN ANFIGAR WG U Ufee
PRI FEPRI AT 9400 PIET Slawdl & Pbeil B,

‘e IR SNedTedT 3Y YR IT HEcH el avqet
T A Il ML IRT ot A &g Id. 1960 wfd
SRS 30 TERATTE o Feq BT o ST Afdelet e,
4R ALl FIATAT ST Hherdde! Alfeald JFaTms
AT Jeedmd! Yo AUURA BT H ST §89 WRUIRIS! 90
TR SMMaTdhaT TSl e AfRuad! & auure
AISTITIGRT SN ATV Fab! TS,

I fFegeear 4R93 =T JEId SHRE 30ae aRhied
ToE T B ST QT SNfUas drhe ¢ 9 AT IAS
TETOM B,

Tl e | e, W AT gt 9’4 Hed AT
TEeHell Sree ol @R 9%Y4Yy He Ui S FEeT del.
ufeed ST 9%4y Al “Ferdia yae & Iraast aiear
TRRIIAR T el Telel! FHde Alfceta GR&T Foc 8
TS BRUT B, 9% ¢ R AL W 8T ‘eI’ 9T Aol IaxT 38
ERri
Hed . 57 : Sl =T Hewtd ‘HRRIY’ & 916c BRI Gt ?

1) 3R QWM AMHHUTAEST NPT WY o AT

I URTg HROATATST

2) IFMERTAT HESHUET “Hel’ =T 3ITHR HAIST 0.

3) SARE R eIl AERATCAT ST 3R,

4) MfFTT JFET FHTE MehHS et

[ NENY o e

U9 . 58 : A AU Wleliclih! P BRUTIING el
gI?

1) B ABTEET S

2) MR aTspe) arms

3) FRIuET afefe TRt

4) SRYfersreaT TR 9

U . 59 : Wleflelder! PV g AT 3R ?
1) & HeeAT nf¥fagseat smfkddr wraReiR ava.
2) 9gAT SUUIRT Wdhe MNPl IHAUIYS AifeaGas
ST &Y FTeanelt WAl R
3) O AEEFR Wifesya IR HRgiTerTe
IR RETAT HHTT LT Bl
4) 7Y & T AIS) HESHT IEHHUT EH NedHaR TfTdR
3T YRETAT 2T FATIA et A
Question nos. 60 and 61 : L, M, N, O, S, T, U and V are
the eight villages, out of which four villages are located on
either side of the road running east west. Each village has
different population. The most thickly populated village is
neither located on any of the end nor it is facing south.
Village T has least population and is exactly opposite to
village U. Village N faces north. Village U is having more

population than village L but less population than village M
which in turn is having less population than village N.
Village O is exactly opposite to village S which faces north.
Village V is third from village T and second from village L
on west side. Village V is having more population than
village S but less population than village O which is having
less population than village L. Then —

60. Which village is across the road opposite to the thickly

populated village ?

1)O 2)L 3T 4HM
61. How many villages have population less than village O?
1)5 2)4 3)3 4)2

9o %. 603 61: L, M, N, 0, S, T, U 3T V & a1 Tsmma
areft amed & ST IR WA Yd-ufRm ST TR
TIRRHER a¥elel! 3Rd. UAd WS AT e M.
T S AP 3RAclel WS HIURdTa] Cidblell ATal 9
SRR A8 T a1 WSTET AbaEdT Faid HHT 31e g o
U T WSTara] aRI6R TR 318, N & WS SINES A8 B
Tt M. U AT WSTARN dAlepaeedT L IT WSTaTET SR 318
W N IT BSTEIET DHT SIhaedT ciedl M a7 WSTTaTueT
Tt 3R, O T WA S IT IR TSI TR 3. V 7
WSME T I SSTEURT RN @ L 7 WeTauRT §eR
TRMes oM. V I ST Aleaed] S IT WSITare
APV SR 318 Y07 L AT STATIET Bl Al
AT O IT WA ATBAEIET FHHT M. T —

60. AP FPaEdl 3Nelcd] WAl AR AT
g IN[ETT THR BI WS 318 ?

1) O 2) L 3)T 4) M
61. forcll WA ABEEAT O AT WSATETUET HHT 3R?
1)5 2) 4 3)3 4)2

Question nos. 62 and 63 : In the following questions some
numbers are given which forms a group according to one of
the rules given in the four alternatives. Which rule defines
the group correctly?
62. 400,121, 9,81
1) Square a number and add to it three times a
number
2) Cube a number and subtract two from it.
3) Multiply a number by three and add five to the
product.
4) Divide the number by four, add one to the
guotient and square.
63. -1, 25, 727,998
1) Square a number and add to it three times a
number
2) Cube a number and subtract two from it.
3) Multiply a number by three and add five to the
product.
4) Divide the number by four, add one to the
guotient and square.

U9 . 62 T 63 : Wloilcl YL FIET T T 3med ST
g Reear it ¢ TR w=ad. dvar w3
R a1 e Ffdd e ?

62. 400, 121, 9, 81
1) AT O BT T AT A feyoue fyesar.

2) HEATT T BT AT AT I AT B
3) WA A U G USRI uTa fiesar.
4) FEIAT IRA |, YFTHRIT U ficsaT g af e
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63. -1, 25, 727,998
1) T I BRT T AT A foroue fysan.

2) AT I SR 3MUT AT I a1 BT,
3) WA T TN T USRI uTa s
4) T IR |, HFTSRIT U firesar g af el

Question no. 64 : How many maximum triangles are there
in the following figure ?

W9 5. 64 : AT TP STRCIT AT el IO 37T ?
1) 6 2) 12 3) 14 4) 20

Question no. 65 : In an year 16™ June was Friday. What

will be the date on first Friday in July of the same year?

T P. 65 : Bl a¥ 16 S YPHART BRI TR AT I8 ol
qie=aTa UfeedT Jhar! PIvt dRRG IRTA?
1) 7 2) 8 3)2 49

Question nos. 66 and 67 : There is some relation between
two numbers on the left side of sign : :. The same relation
exists between two numbers on the right side of sign : ..
Find the number amongst the alternatives which will appear
at the question mark.

9ed . 66 I 67 : furg : : =T SAIFS Il M W&

PE FeY 8. dT T g : ; T S9d1bS 3Tl SN
A Mg, Tl srefl dwr aver S weAfegr=ar SRt

RECH
66. 16:125 :: 36: ?

1) 216 2) 512 3) 49 4) 343
67. 8:448 ::11:7?

1) 1210 2) 1110 3) 1221 4) 729

Question no. 68 : If Q is son of P, T is son of S. Q has
married to R who is daughter of S. Then what is the relation
of SwithQ ?

1) Father in law 2) Mother in law

3) Either 1or2 4) None of the above
U . 68 : SR Q BT P a7 Gl 318, T &1 S a7 oIl a1z, Q
S ot gorft areiedn R ot o9 det 37”, TR S T Q off A1 Hrr?

1) 9T 2) 9

3) 1 fohar 2 4) TR PorT AL,
Question no. 69 : Study the Venn diagram given below and

answer the question that follows.
TR . 69 : ol [Gcled] o 3G aT SIRT BRI MR

TS SN .

Players Teachers
5
12 \3 5 ——Aurtists
10 PHATPR
69 . How many artists are players ?
69 . fohcl THATPR Wedlg 3T ?
1) 15 2)12 3) 10 4)20

Question no. 70 : How many pairs of digits are there in

3716482351 which have as many digits as in number series

arranged in increasing order ?
1) 7 2)12

3) 10 4) 9

U9 . 70 : 3716482351 IT AT 3fepreAT 37eT el S
3MMET & ML I IRTelel 31 T Tedl HF frfgerear
AT SRAUIR 3idhs T TR ?

1) 7 2) 12 3) 10 4) 9
Question no. 71 : An alphabetical series is given in the
following question. Some letters in the series are missing,
which are given in the opposite direction in one of the
alternatives. Find the same.
geq . 71 : Teid UM Th JwleRHraer et o
qIfefhelicl BIET &R Feelell  3Ted.  GIfamiiel Tapra ot
T e SeIc TN fetell 3Ted. dr gt o,

R_SE_OS_RO_E

1) ORES 2) SERO 3) OOSR 4)RSOO
Question no. 72 : Which number amongst the alternatives
will appear at the question mark ?

U9 3. 72 : YIIATUDT DI T&IT UeARFErRdr SRl AT ?

15 10
18 6
10 ?
14 17 16 20 14 9 11 12

1) 10 2) 9 3) 12 4) 11
Question no. 73 : Which of the following is a wrong term
in the given numerical series ?

9T . 73 : foicar AMIferhdld, QIeilcdid! PR I
I M ?

243,81, 27,9,3,0
1) 9 2)0 3) 243 4) 3
Question no. 74 : In a circle of 25 cm radius chord

AB || CD, AB =40, CD = 30, then the distance between AB
and CD will be ......

1) 35 2) 200r5
3) 20 or 35 4) 350r5
UeT . 74 : SR 25 ¥ AT SRl agemed Sifar

AB || CD, AB = 40, CD = 30 @ AB 31 CD #efilet 3tk
TeATADT DI 3R ?

1) 35 2) 20 f&ar 5
3) 20 fehar 35 4) 35 fhar 5
Question no. 75 : U9 . 75 :
I /5R x= |29 =7
3 3 3 3

1) 3,5 2) 3,—5 3)_3’5 4)-3,-=

Question no. 76 : A . 76 :

If /SR /0.04x04xa = 0.4 x0.04 x /b

then/a’\fiz .....
b

1) 0016 2)0.16  3) 1.0 4) 16
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Question no. 77 : The diagonals of a quadrilateral ABCD
intersect at right angle. If AC = 15, BD = 18, then which of
the following is the area of 0 ABCD ?

9T . 77 : O ABCD T HUf IRERHT HIeahIHTd wadId, SN
AC =15,BD =18 &= 0 ABCD T &9%he Tcilcfieh! I ?
1) 335 2) 66 3) 270 4) 135

Question nos. 78 to 80 :

The following three questions are based on a Passage in
English to test the comprehension of English Language and
therefore both the Passage and the questions on it do not
have Marathi version. Read the following passage
carefully and answer the questions that follow.

gad ofF T Fol TN S JUNTIIST SRIed
ReEBT g TR T ARIST TR ST 37Telel AT, Jeiet
URTET PIesoiYdd araT I ARITE! feiedT UL IFg ST &,

The greatest enemy of mankind, as people have
discovered is not science, but war. Science merely reflects
the social forces by which it is surrounded. It is found that
when there is peace, science is constructive, when there is
war, science is perverted to destructive ends. The weapons
which science gives us, do not necessarily create war, these
make war more terribl.e Until now, it has brought us to the
doorstep of doom. Our main problem is therefore, not to
curb science, but to stop war — to substitute law for force,
and intemational government for anarchy in the relations of
one nation with another. That is a job in which everybody
must participate, incuding scientists. But the bomb of
Hiroshima suddenly woke us to the fact that we have very
little time. The hour is late and our work has scarely begun.
Now we are face to face with this urgent question : “Can
education and toterance, understanding and creative
intelligence run fast enough to keep us abreast of our own
mounting capacity to destroy?” That is the question which
we shall have to answer one way or the other in this
generation. Science must help us in the answer, but the
main decision lies within ourselves.

Question no. 78 : According to the author, the real enemy
of mankind is not science but war because .....

1) science during wars is very destructive.

2) science merely invents the weapons with which
war is fought.

3) the weapons that science invents necessarily lead
to war.

4) the weapons invented by science do not cause war,
though these make it more destructive.

Question no. 79 : An appropriate title for the passage
would be ........

1) Science and the new generation.
2) Science and the social forces.

3) Science and the horrors of war.
4) Science and world peace.

Question no. 80 : According to the writer, the main
problem we are faced with, is to ........

1) prevent scientists from participating in destructive
activities.

2) abolish war.
3) stop scientific progress everywhere.
4) stop science from reflecting social forces.

Question nos. 81 to 83 :

The following three questions are based on a Passage in
English to test the comprehension of English Language and
therefore both the Passage and the questions on it do not
have Marathi version. Read the following passage
carefully and answer the questions that follow.

e T SN uINE FHS qURITIIST SR
uReeT T TRl T RIS HINIaR SUITd 3Telel ATEl. geiat
IREBT B Ydd IraT d ARATAT fetedr Heat Irg S .

Atheletes and actors — let actors stand for the set of
performing artists — share much. They share the need to
make gesture as fluid and economical as possible to make
out of a welter of choices the single, precicely right one.
They share the need for thousands of hours of practice in
order to train the body to become the perfect, instinctive
instrument to express. Both athlete and actor, out of that
abundance of emotion, choice, strategy, knowledge of the
terrain, mood of spectetors, condition of others in the
ensemble, secret awareness of injury or weakness, and as
nearly an absolute concentration as possible so that all
externalities are integrated, all distraction absorbed to the
self, must be able to change the self so successfully that it
changes us.

When either athelete or actor can bring all these skills to
bear and focus them, then he or she will achieve that state
of complete intensity and complete relaxation — complete
coherence or integrity between what the performer wants to
do and what the performer has to do. Then, the performer is
free; for then, all that has been learned, by thousand of
hours of practice and discipline and by repression of pattern
becomes natural. Then intellect is upgraded to the level of
an instinct.

81 : Which best describes what the author is doing in the
parenthetical comment “let actors stand for the set of
performing artists”

1) Indicating that actors should rise out of respect
for the arts.

2) Defining the way in which he is using a particular
term.

3) Emphasizing that actors are superior to other
performing artists.

4) Correcting a misinterpretation of the role of
actors.

82 : The phrase “bring all these skills to bear” in the
begining of second para, is best taken to mean that the
athlete .....

1) comes to endure these skills.

2) carries the burden of his talent.

3) applies these skills purposefully

4) causes himself to behave skillfully.

83 : According to the author, freedom for performers
dependson ........

1) the internalization of all they have learned.
2) their subjection of the audience.

3) their willingness to depart from tradition.
4) the absence of injuries or other weaknesses.
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Directions for following 7 questions : Given below are
seven questions describing a situation and is followed by
four possible responses. Indicate the response you find the
most appropriate. Choose only one response for each
question. The responses will be evaluated based on the
level of appropriateness for the given situation.

Please attempt all the questions. There is no penalty
for wrong answers for these seven quetions.

Ui AT HeATAIST Il : @lell A1 ueT el g S
TS G TSl el e anftr MR IR Hfdiear e
3Rd. gHeaT gEN @rdler Tafd o ufifhar Hicar. vdw
AR Uhd qatg Frael. SR geaie, felear ge
Hefa STIIRICAT TR el ATSa.

FUAT W AT ITR L. AT WIS WeATTAT FehredT ITIRTATSH
PIVIATE! S BeAT SR ATEL.

Question no. 84 : You have set up a procedure in which
only you take decision on all issues, letters are sent with
your signature only. As a result, there is a strict discipline in
the working and you have total control on the
administration in your office. However, this also creates lot
of difficulties in completion of work or there is lot of delay
in completion of work. The public in general is therefore at
inconvenience and is unhappy about you. As a good
administrator, how would you change ? Give the preference
of your action.

A) You will involve your colleagues in the decision making
and train them accordingly.

B) You will allow your colleagues to take decision in your
absence and get the information from them after you
come back to your office.

C) You will insist that your colleagues should take
decisions as per your instruction only and then take your
permission for necessary action.

D) Even if the decision taken by your colleagues is not
correct, you will take the responsibility of such decision.
1A/ B,D,C 2)A,C,B,D
3)C,B,A,D 4)C,A DB

Ued . 84 : AT UG g BRTGAE U3 TR

BT, T el AeamaR ol Irsfdel! Sl aeft e geet

T FATAI UTd STl ATET. AT Gl PRITAATIR

areaul fafor gara fhar @i IR B S T St

TR T RAT B, T T TGOS T ATAT MeTRIdh TR

TrE! PRI D STewT? JASAT Pl IACH DT BRI IRAT?

37) fofa Ui goeaT AEd T AMIgT 89 AT Hferfaa
0

q) FFT Ui i Fofa v 3 Sur 9 g
AR TG ietedn Fofrdt mifcdt oo g,

%) AT AEHIHT Gt AifidearsmT o SdqeaTor goe!
Tl ST G el o,

T) AT FepRIET Ui SRR SRAT TR AR STETeeRT T
PR,
1)3,9,3, & 2) 3, %, 9,
3)F, 9,3, 4)F, 3,3, 9

Question no. 85 : One of your colleagues with whom you

did not have good relations has met with an accident and
therefore will not be able to run the project on which he

was working. Your senior manager has called you and has

requested you to take up this additional responsibility in

addition to your own. This is certainly increasing your
responsibilities and you are likely to be over burdened.

What kind of response you will give to your manager ?

A) Tell him that you like to accept challenges and therefore
you are ready to accept the additional responsibility.

B) Tell him that you will take up this additional
responsibility only if the company is ready to pay extra
remuneration to you.

C) You suggest some other person to assign this
responsibility and avoid this extra burden on you.

D) Refuse directly to take up such additional burden and
suggest that new candidates be recruited for this work.
DA 2)B 3)C 4)D

UeT . 85 : T BM I IAAIeAT HUHKIA FAT Tl

FEBIATST YT AT AT ST YhedlaR Bl deid sl o

M TN 37T T JPUR AR JTd T AT JAThed Fae BRA

el ARG, JTeA aRE A HoR Jealell derds gral 8l oTal

SETEERT BT 3T afdel 38, ITes JHedT HHTET R JTEUR

SR SEESFATE dIGUIR 3. AT HeoRkell Il &4l

TfrTS Emet?

31) T ATl Y HAT 3MMeg BRI 3fTeed AT TJUH
} 2 SR B IRTIAT TIR 3T,

) AT A B H E AR SRR BRI, SR Tl
B STTRT GGl SR 3RS TR,

%) TR T@a:  WORUNGST Jrel ST FUT AEHRATAT §
B T I AT AT TR DT,

T) Tl & M TERIA I HUH INET T @b Fas
FRTET 3 GadTe.

1) 31 2)9 3) & 4) s

Question no. 86 : You have worked very hard for long

along with many of your colleagues on a welfare project. In

order to know this new project the minister and other higher
authorities of your department have been invited and you
have made all kinds of arrangements for the programme.

Just before few hours before the programme has to start,

you came to know that your father had a heart attack and

you are expected to rush to your village. Under such
circumstances, what would you do ?

A) You will inform the minister and higher authorities that
the programme is cancelled and then you will proceed
to your village.

B) You will consult with your higher authorities and do
accordingly.

C) You will entrust the responsibility of the programme on
one of your colleagues who has worked with you in this
project; give him all the instructions and then proceed to
your village.

D) You will present your project in front of the minister and
then only you will proceed to your village.

1)C 2) D 3)B 4) A

U9 3. 86 : Tl A NI 3D AGHIIMT RISR B

U& FHAUIDHR! Uded TIR Hell 372, T A Yebedra! ATfeet

SRS e WIAT HAil R 3 AR TBIITT

! FHfT det SRIT T Td HEHIAFT SRR B grat aT

PrRIGHT ST TR Hefl 3R, BRIGHTAT Hral aradl araeft

IReTl IRATHTE JHAT ISl gad AR e e
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TETA FIel G JeeTell @R e aThs A1d AR

3TTR. 31T IR T PRI PRI ?

37) T e aRSFT g Hofl HEISAT PRI I8 ST Hog
a1 AT T ST

U9 5. 88 : Uoh[ HIGAT ASIARIT Yl PIIGeIT dlal WSt W
sifeinfies & SRIciedT J&d YERURIT Jeel! 3Med. Pral dlb
BT EISIT ITIRe ST Yellhs SO YT i 3Tl
A 3791 BrSART AT R FH AR, AT FrEl g Fqd

q) AT IRSRIAR 81 FERAT HiSTel 3T o AT et T PRI,

TSeledT JTaNTges TSIl qudTe UTde! giadred] e dar av

%) I YebeuTd ST+ BIT el TS, AT JHAT Tbl HSDRITaR
BRIHHAT SIAEER! HUGT FHT Hd YDRAT FAT ]

Tl TS ST
$) Ml SMUIRT SR ATl X1 &epa A8l quT JHE Uehed
TR X SeATART Jrel TAThs STTof.
1) & 2)s 3)g 4) I
Question no. 87 : You came to know that your friend has
met with an accident. In hurry you left to help him out on
your bike but forgot to wear helmet and keep driving
license with you. At one place, police have detained you for
not having these two things with you. What will you do in
this situation ?
A) Pay him some bribe and escape.
B) You will honestly explain the condition in which you
left your home and request the police to excuse you.
C) You will call some police officer whom you know and
pressurise the police to leave you.
D) Accept the mistake and pay the appropriate fine and
then you will go to attend your friend.
HD 2)B 3)C 4) A
U . 87 : JHAT FHTAT U AT BRARRIER o
TRA T GATBIaT ATAThS AU STEETe e, deaT
T T 9 dTET WRAMT Ser I, AT g oot
AED N Jrelel A¥ee JrSfdel. 3rem J&t Tl I
PNTA?
) PRI AT I Jral e Fem e,
) gret ST g fEme ar eTitear AT gt geeTel
&) AT N NIRRT JARIBRIT BIF BT Grfera
TETClT ARG SUITATS! TR S&1g 37U,
T) Helett &b TFT Bl ARG Al G T Jral Tl oS
NISHE
1) s 2)9 3)& 4) I
Question no. 88 : A bridge on a large river bed collapsed
and many villages are totally cut off from the main land
which is highly industrialized. Though some of the people
are trying to cross the river through small boats, the number
of boats are very few and since there was continuous rain
for last few days, the river has crossed the danger mark.
There is dearth of food, cloth, medicine and other
commodities for the people in all these villages. As an
administrative officer, what should be the order of steps
that you would take in this situation ?
A) Call the military to build temporary bridge.
B) Arrange for more boats from some other place.
C) Arrange an helicopter for providing necessary
commodities in the affected villages.
D) Contact the public works department to start the
construction of a new bridge.
1)AB,C,D 2)B,A,C,D
3)C,B,A D 4)C,D,A,B

el IR, IT Fd WeaH rucref, v, Fusert T dafr
13T JeasT FHiu SIeT 318, U Ui PR #8u grel
SIALAPIIIR TWeAIet T HIUIT HHF BRI ?

31) FREIT SATAT FleAq TRYRAT YT STGUART AR,

§) STaURTT o SBI0Taw- JTeT Beal AN B,

o v

%) gfctepey leiqd AT TRoRAT ¥l gRaal v,

) A qiern™ WIATAT IaR 7dT el JTET0IRT s oo,

1)3,d,®,S 2)9, 3,6,

3)®, 9,3, 4)F, S, 3,9

Question no. 89 : As a railway ticket collector you have
found that a man was ticketless. His argument was that
when he was entering into the train there was lot of rush
and during that somebody has stolen his purse in which he
had kept his journey ticket. What will be your course of
action in this situation ?

A) Penalise him for the ticket less travel and ask him to
make payment for the remaining journey.

B) You will handover that person to the railway police after
reaching the next station.

C) Ask him to call some of his relatives or friends who
could lend him money when train will reach next
station.

D) Realising that the person is from respectable family, you
will yourself bear the penalty and ask him to return the
money after reaching his destination.

1)C,D,A B 2)C,B,A, D

3)D,C, B, A 4)A B, C,D
99 3. 89 : Udh Yod fIfhe FRieid w8ud Jrel Ul Sariiall
Yedd o1 fafthe vamr R Ul 1. T VaTee 3RY
TEUTOY 31TE Y, TENT HAYT FHR T QY T Bt AT degT e
Raemeliel Uil HIviiast aRel. @1 ITfderd @ wasT ffee
B, JAATIBT Jra! PIVAT IR TR HAATE! PRI ?
37) TTAT T S8 oo Yelel HaTTe fifdhera 4R

WRIIAT A,

9) G3IeT I AT T FTRNTAT Jret Ut RAeT et Sa
T,

%) T TETRI AIaTEds 3R T B $% Jeial ICeaR
FoTrel} AT PRUIRT AT,
) B YA T BRI 318 3RT AGIed™ T STt

FHH T RILATGA RIeT G e ool drgeearer
TITAT 3T TFHH IR U AT,

1)®,8,3,4d 2)%,9,3,3

3)S,®, 9,3 4) 3,9, %, S
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Question no. 90 : You have been appointed as manager
because of your talent in a multinational organisation.
There are many other senior officers who were also
expecting this position since they worked in the same
organisation for last many years. You realised that most of
them are non-cooperative and refusing to work as per your
instructions. What will be the order of steps you will take
in this situation to set the things in your favour ?

A) Concentrate on your own work without bothering what
others are doing.

B) Convince your staff that working in your way would
benefit the organisation and also to all the people
working in the office.

C) Call some of the prominent people who are your staunch
opponents and assure them that next time they will get
the promotion if they are ready to cooperate you.

D) Complain to the higher authorities of the management
about this and issue memos to all of them for non
efficient working.
1)D,C,B,A
3)C,D,B,A

2)B,C,D, A
4)A D, C,B
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Note : English version of the instructions is printed on the front cover of this Booklet.




